Potencias de 10 (G)

Calcule los siguientes productos y cocientes.

1.4909 - 10!

2.307 = 10!

8.2493 x 10!

1.8146 - 10!

6.9243 = 10!

7.1164 x 10!

7.1104 - 10!

2.7398 x 10!

1.9253 x 10!

2.2929 + 10!

7.4836 x 10!

2.0787 x 10!

9.7505 + 10!

5.8638 10!

2.3849 x 10!

1.4921 = 10!

4.6886 + 10!

7.5015 = 10!

5.6214 x 10!

4.0104 = 10!
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Potencias de 10 (G) Respuestas

Calcule los siguientes productos y cocientes.

1.4909 + 10!
0.14909
2.307 + 10!
0.2307
8.2493 x 10!
82.493
1.8146 10!
0.18146
6.9243 10!
0.69243
7.1164 x 10!
71.164
7.1104 = 10!
0.71104
2.7398 x 10!
27.398
1.9253 x 10!
19.253
2.2929 + 10!
0.22929

7.4836 x 10!
74.836
2.0787 x 10!
20.787
9.7505 + 10!
0.97505
5.8638 — 10!
0.58638
2.3849 x 10!
23.849
1.4921 = 10!
0.14921
4.6886 = 10!
0.46886
7.5015+10'
0.75015
5.6214 x 10!
56.214
4.0104 +10'
0.40104
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